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BOD & 8} (kgBOD/1000m-Y) 35 1.6
Z 7| Al ZF (hr) 6 ~ 12 15.7
xurex= MLSS Bt £ H 40 ~ 60 2,390
Jjershe F/ M H 0.12 0.13
420l= DO (mg/1) 2.0 1.6
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IZ 7 A 7|AA =TT 71AA =527
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o =st
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MM
mjo

O A8&&otrXME|Ad2 ot d 7|50 ot R+ =27

- Ol ® AldTA 22 1 M3

k=)
2ol 2l5to IX Y 7|[&22 HE8A &

= A oox e 2X A 2l 5 EFS

2 = TET 29 |82 |HHE |8 Y (8 |MAB | 452
X3 | 369.9 384.3 178.1 54% 9.8 2.0

BOD | X|X4 | 2034 215.0 11.7 95% 6.0 16
oA | 2980 3114 138.2 56% 7.8 1.8

X1 | 153.8 1614 78.9 51% 11.0 7.8

COD | XX 84.7 87.9 51.8 41% 8.5 6.4
oA | 1279 132.0 65.3 51% 9.7 6.8

X3 | 3533 380.0 77.5 80% 6.4 2.2

18 SS XX | 164.0 98.7 45.0 54% 3.8 14
oA | 2509 2684 60.9 77% 54 1.8

X1 | 53.847 | 55.633 | 33.526 40% 14.371 12.537

T-N | X|X | 34.710 | 35.603 | 22.809 36% 8.215 7.784
™+ | 45.513 | 47.073 | 27.383 42% 11.293 10444

X1 | 9.006 9.426 5.692 40% 0.763 0.099

T-P | XN | 4.891 5.110 3.003 41% 0.334 0.039
HA | 7.634 7.970 | 4194 47% 0.499 0.060

x| 3411 3549 160.1 55% 6.6 1.9

BOD | X|4 | 1794 187.8 102.1 46% 4.4 13
oA | 2847 294.6 132.2 55% 6.0 16

XD | 1526 154.2 74.1 52% 104 7.0

COD | XX 82.7 85.2 49.7 42% 7.0 51
oA | 1262 129.5 61.0 53% 9.1 6.2

x| 296.7 316.7 69.0 78% 6.4 2.2

2 SS XX | 136.3 170.0 45.0 74% 4.0 1.2
oA | 2350 251.7 53.3 79% 51 17

X1 | 51.442 | 53.180 | 29.348 45% 10.881 9.995

T-N | X|X | 33.672 | 34.188 | 22.809 33% 7.689 6.732
™ | 45.685 | 46.566 | 26.743 43% 9.691 9.042

X1 | 8810 9.297 | 4911 47% 0.841 0.070

T-P | XN | 4.221 | 4.745 3.249 32% 0.303 0.032
oA | 7.070 7.463 3.902 48% 0.490 0.052

X | 3543 362.1 163.7 55% 6.5 1.8

BOD | £IX | 1614 193.8 102.1 47% 41 13

3 oA | 2918 300.5 133.0 56% 53 15
COD | *|10 | 1586 161.8 63.6 61% 104 6.6
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S 8| oo LApX 2| 2R M 2|+ rET
st =2 TET I Y |8 F |MME |8 Y |8 E | HAB | ¥32)
XX | 834 85.7 46.3 46% 8.2 5.2
Mo | 128.0 | 1295 541 58% 9.6 5.8
X3 | 3433 | 360.0 73.0 80% 6.4 24
SS | =X | 166.7 | 170.0 41.0 76% 4.0 14
Ho | 2557 | 2645 56.6 79% 4.9 1.7
X1 | 60911 | 67.752 | 33.748 | 50% 11.248 10.018
T-N | %[X | 37.833 | 38.952 | 23.081 | 41% 8.144 7.806
Ha | 50.217 | 50.446 | 27.669 | 45% 10.187 9.479
X3 | 9987 | 9.880 | 4.955 50% 0.614 0.083
T-P | £/X | 4518 | 4873 | 3.080 37% 0.314 0.021
" | 7947 | 7970 | 3934 51% 0421 0.052
Z|0 | 3549 | 3675 | 1757 52% 6.7 1.8
BOD | /XM | 1942 | 206.6 | 1193 42% 51 13
Ho | 3066 | 3156 | 1457 54% 5.7 1.6
X | 1534 | 156.6 61.5 61% 10.8 7.1
COD | #/X | 852 86.2 43.0 50% 9.0 5.1
Ho | 1357 | 1380 53.2 61% 9.7 6.3
X | 366.7 | 366.7 89.0 76% 5.8 2.2
SS | XX | 190.0 | 2075 44.0 79% 4.0 1.2
Ho | 2896 | 3014 61.4 80% 4.7 1.7
X/ | 58.610 | 59.633 | 33.300 | 44% 11.824 10.449
T-N | 2|X | 36.363 | 37.258 | 22.848 | 39% 8.324 8.004
Ho | 50.851 | 51.791 | 27.575 | 47% 10.438 9.704
X | 9.899 | 9.862 | 5416 45% 0.848 0.101
T-P | &K | 5752 | 6.107 | 3.025 50% 0.329 0.026
Mo | 8278 | 8493 | 4.147 51% 0.559 0.062
X0 | 3615 | 3759 | 165.2 56% 5.8 1.7
BOD | &|X | 2238 | 2374 | 1370 42% 4.5 1.0
Ho | 3016 | 3147 | 1478 53% 5.2 13
X | 156.2 | 159.5 61.4 62% 10.1 7.1
COD | XX | 1049 | 108.1 49.0 55% 8.7 5.8
Hd | 1346 | 1377 52.7 62% 9.4 6.3
X0 | 3600 | 3833 78.0 80% 5.2 2.0
SS | XN | 2225 323 43.0 -33% 3.0 1.2
Ha | 2894 | 2945 61.3 79% 4.4 1.6
X0 | 58794 | 59.633 | 37430 | 37% 10.817 10.817
T-N | Z[X | 39.048 | 40.454 | 22.561 | 44% 9.027 7.940
Ho | 48.874 | 49.953 | 27.148 | 46% 9.773 9.106
Z | 9768 | 9.862 | 6.035 39% 0.893 0.103
T-P | X[ | 5789 | 5938 | 3.277 45% 0.244 0.022
Ha | 7982 | 8249 | 4.300 48% 0.448 0.059
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s 38 LApX 2| 2R M 2|+ rET

st = 7Y |#E |MAE 7 E (=854
ESpn} 377.1 | 1727 54% 6.1 15

BOD | XX 2398 | 1231 49% 4.8 11
o 312.8 | 140.6 55% 55 12

Epnl 1575 60.0 62% 104 6.8

COD | %M 106.2 49.3 54% 8.0 51
Ha 134.1 523 61% 8.9 5.8

ESpnl 393.3 81.0 79% 5.8 2.6

SS | HAN 2233 45.0 80% 3.6 1.2
Ho 280.3 56.1 80% 4.6 1.7

X 55.669 | 34.835 | 37% 10.689 9.554

T-N | =A™ 37961 | 23.104 | 39% 8.420 7.732
Ha 45.852 | 27.006 | 41% 9.433 8.432

ESpnl 9.899 | 6.565 34% 0.674 0.088

T-P | &HXN 5.527 | 3.249 41% 0.276 0.030
Ho 7.564 | 4.129 45% 0.420 0.056

X 369.9 | 1694 54% 6.1 15

BOD | =X 2513 | 1364 46% 5.3 1.2
iy 330.7 | 154.8 53% 5.7 13

177.6 50.8 71% 9.2 6.3

COD 104.2 40.0 62% 6.8 5.2
139.8 45.9 67% 7.5 5.5

416.7 69.0 83% 5.2 1.8

SS 218.0 39.0 82% 4.0 1.2
290.7 50.1 83% 4.4 15

55.605 | 29.847 | 46% 10.155 9.690

T-N 37.769 | 23743 | 37% 8.150 7.814
47.760 | 25487 | 47% 9.166 8.584

9.878 | 5.790 41% 0.777 0.098

T-P 6.389 | 3.184 50% 0.356 0.010
8.404 | 4.226 50% 0.523 0.054

3585 | 1763 51% 6.1 15

BOD 2224 | 1217 45% 4.6 11
295.0 | 1534 48% 5.2 13

1554 49.8 68% 8.1 6.8

3 COD 105.6 42.2 60% 5.8 49
= 1295 45.2 65% 6.9 5.3
353.3 54.0 85% 5.0 1.8

sS 164.0 32.0 80% 3.8 1.2
229.2 42.2 82% 4.2 14
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3 LR 2] 4 2APH 2| % EEN
o= EEEEREEE e -454)
i 50.557 | 26.744 | 47% 12422 12.056
T-N | &KX 32.013 | 20.003 38% 7.014 6.378
o 41986 | 23.236 | 45% 9.463 8.706
] 9.666 | 6.062 37% 0.946 0.106
T-P | ®H 5802 | 2418 58% 0.440 0.042
oA 7.608 | 3.511 54% 0.656 0.072
| 373.5 171.8 54% 5.9 16
BOD | %X 216.3 110.6 49% 12 0.6
oA 304.6 | 1489 51% 4.8 12
] 170.6 511 70% 6.5 55
COD | AH 106.2 37.8 64% 52 4.3
oA 1334 445 67% 6.1 52
] 383.3 51.0 87% 4.8 2.2
SS ESpY 158.0 38.0 76% 3.8 12
o 256.4 442 83% 4.2 14
] 58.302 | 30985 | 47% 9.998 8.801
T-N | &KX 32.300 | 21.760 33% 7.953 6.953
o 43.886 | 24.189 | 45% 9.228 8.035
x| 9.983 | 4.715 53% 0.818 0.148
T-P | &KX 5877 | 2.891 51% 0.384 0.036
o 8.464 | 3.608 57% 0.566 0.068
] 372.3 161.0 57% 5.6 16
BOD | ® X 169.3 141.2 17% 3.6 0.7
o 310.7 | 151.0 51% 4.8 12
] 154.6 51.8 66% 8.0 5.9
COD | A X 105.1 42.1 60% 54 49
iy 136.8 47.2 66% 6.3 53
il 360.0 54.0 85% 4.6 1.8
SS | XA 144.0 39.0 73% 3.0 1.0
o 260.0 46.1 82% 4.0 14
] 58.972 | 28.910 51% 10.198 9.990
T-N | & X 33.228 | 22.610 32% 8.006 7.112
o 45858 | 24.240 | 47% 9.370 8.494
e 9.826 | 4.948 50% 0.978 0.118
T-P | 21X 6.118 | 2.794 54% 0.502 0.054
g 8.422 | 3.700 56% 0.747 0.091
il 379.5 191.6 50% 5.3 17
YEL 210.6 | 1358 | 36% 2.5 0.8
o 3173 148.5 53% 43 12
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S 8| oo LXK 2 4= 2XHN 2|+ rET

2 ym= TET g |8z [AAHe (89 |87 |[mMAS |3
%7 | 1590 | 1623 | 561 | 65% 10.4 6.1

COD | /M | 1016 | 1044 | 405 | 61% 5.0 45
B | 1362 | 1396 | 481 | 66% 7.0 5.1

27 [ 3233 | 3500 | 710 | 80% 7.0 3.0

SS | ZM | 1280 | 1420 | 340 | 76% 2.0 1.0
HD | 2263 | 2482 | 451 | 82% 42 15

%7 | 58781 | 59.681 | 37.874 | 37% 10.405 10.239

T-N [ &% | 28501 | 30.949 | 21.313 | 31% 6.765 6.481
B | 45719 | 47.939 | 26.647 | 44% 8.648 7.895

Z|71 | 8946 | 9.925 | 5705 | 43% 1437 0.153

T-P | &M | 5552 | 6.069 | 2.850 | 53% 0.369 0.062
B | 7191 | 8063 | 3.608 | 55% 0.767 0.096

#7| 3663 | 3759 | 1586 | 58% 5.2 23

BOD | A% | 2038 | 217.1 | 1385 | 36% 41 0.7
B | 3043 | 3207 | 1491 | 53% 47 12

A3 | 1643 | 1711 | 598 | 65% 10.7 6.4

cop | A& | 1032 | 1076 | 452 | 58% 6.2 5.0
Bz | 1446 | 1480 | 533 | 64% 8.1 5.6

x7 | 4150 | 4433 | 610 | 86% 17 36

128 | SS | Ax | 1320 | 1420 | 340 | 76% 42 12
Bz | 2347 | 2645 | 515 | 81% 6.8 18

%7 | 60974 | 65.939 | 39.609 | 40% 11.930 9.924

T-N | z|x | 30407 | 31.052 | 22.883 | 26% 7.059 6.100
7 | 48.809 | 50.844 | 28313 | 44% 8.858 7.826

27| 8963 | 11.049 | 6269 | 43% 1.734 0.122

T-P | A% | 5089 | 6.043 | 2720 | 55% 0.443 0.015
B | 7483 | 8249 | 4292 | 48% 1.023 0.086

%7 | 3699 | 3843 | 1916 | 50% 9.8 23

BOD | #|X | 1614 | 1693 | 117 | 93% 12 0.6
Bz | 2997 | 3109 | 1454 | 53% 5.4 14

A1 | 1944 | 1776 | 789 | s56% 11.0 7.8

8 |cop|zH| 827 | 852 | 378 | 56% 5.0 43
g Bz | 1330 | 1357 | 518 | 62% 8.2 5.7
El %7 | 4150 | 4433 | 990 | 78% 17.0 36
ss | zx | 1280 | 323 | 320 | 1% 20 1.0
Bz | 2522 | 2676 | 524 | 80% 438 16

T-N | %7 | 60.974 | 67.752 | 39.609 | 42% 14.371 12,537
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6.100
8.814
0.153
0.010
0.067

=0 Ci5ko] AbA

!

e
6.765
9.631
1.734
0.244
0.594

2

ez 2AX

35%
45%
41%
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1XHH 2] =
6.565
2418
3.964
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tels8E 2AXHEHO gL
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